. AWM AT df = Af 3K4100.01 Z3ELUE (9 KT EUE)
(A)10.003 (B) 10.02 (C)10.05 (D) 10.005
SOL:

QFfF(X)=x > f'(X)=L\/_
X

QMDA fF(x+Ax) = f(x)+ f'(X)AX
(3)% x=100 - Ax=0.01 f(100+0.01)= f(100)+ f'(100)0.01

+100.01 =10+ 2—100.01 =10.005

HE(D)

2. W fhEta MEZ%JT%KE(M MVEER)
(A) FAdf = Af BRI EUE
(B) |Ax| AT O fliaE AT tERE
(C) M hEHaERFN AR EA RN ENE =

(D) MAMEETEBUERTA f(X+AX) = f(x) - f'(X)-AX
SOL:

(A) R =Af BURsRIEME... . (IEF)

(B) |Ax| B O fhEHERER....(IEM)

(C) MA AN ERANBEIREL AR ENEZ....(IEHE)

(D) MAEEHEBUEAT A f(X+AX) = f(X)— f'(X)-AX...(RERE)
IEERMADEEHEPEATS T (X+AX) = f(X)+ f'(X)-AX
HE(D)

3. K f(x) =" Ex =0 ZHFmEMRAER(FR SRR

SOL: /s REMERLR
f(x)=f(0)+ M0, O, 1O s, .
1! 2! 3!

f(x)=¢* = f(0)=¢"=1

f(x)=e* = f'(0)=e’=1
fr(x)=¢* = f"(0)=¢’=1
fr(x)=e* = f"(0)=¢=1



e* T S VI Y I
1 21

4. @K f(x) =sinx £ x = 0 N ZHFRBMRBRAIN(F= S5 MR

SOL: BnsMREERIS
f(x)=f(0)+ HONREONIREC NN 20 Xt
1! 2! 3! 41

f(x)=sinx = f(0)=sin(0)=0
f'(x)=cosx = f'(0)=cos(0)=1
f"(x)=-sinx = f"(0)=-sin(0) =0
f"(x)=-cosx = f"(0)=-cos(0)=-1
f@Y(x)=sinx = f“(0)=sin(0)=0
1, 0., 1 1, 1. 1,

- . l 0 2 -
SINX=04+—=X+—X+—X+—X"+==x-—x*+=x>==x"+---
1 21 3! 41 3 5! 7!

5. @K f(x) =In(x+1) £ x =0 W Z B S MARBURFRT(F 5 MARE)

SOL: f(X)Ex=0 ZHBE=SMEHERT

f(x)=f(0)+ f'(o)x+ 0 X2 + () x® + ) x* 4.

1! 21 3! 41
f(x)=In(x+1) = f(0)=In(1)=0
1 1
f' X)=—— - f, 0 :—:1
(0 Xx+1 © 1
1 1
f”(X):—— :>.|:n0 :__:_1
(x+1)° ©="3
2
fW(X)z 3 :> fﬂ!(o):gzz
(x+ 1
_al _
-f(@(x):i4 :>f(4)(0):ﬂ:_3!
(x+1) 1
— 3l
In(X+1)ﬁlX+—1X2+£X3+iX4+...
1! 2! 3! 4!
|n(x+1)iX—lx2+1x3—£x4+-..
2 3

6. FIBM A AT df = Af 5K Y1003 ZHBEE (T KT EUE)
(A)10.099 (B)10.01  (C)10.085 (D) 10.02



SOL:
OFIX)=3Ix > f/(x)=

1
3 x?
QA AT f(x+Ax) = f(X)+ f/(X)AX

(3)% x=1000 - Ax=3 f(1000+3)= f(1000)+ f'(1000)-3

1003 =10+ L 3=10.01

3910007
HUE(B)
7R AR AR ST V3 (x, = 2) HETy, (t':uzaﬁa,z)
SOL:

(1) x=+3 =x*=3 =x*-3=0

(2) FERIREAZIBE AT

OGRS IESAWNTH YN

2
x =233 _T.q75
4 4

2
) L7543 60625, oo,
2-(1.75) 35




